
ftotefqlEfr <l(Errfi {r-f Rr

$Arqmqftq.$(
ofr qfifl-< rys. Ff:ffi. Ttqqlrfi. trffl-slsc r

www.dls.gov.bd

ffiqe-

A@,ttr
,M&;i.

/ftotltols Ba

aEXtT$i.i<;----

!$s/-

(vta wrqa q-<tr Fffi'O
:nqfefREtT{ (cels-s)

$fqriplq qf,{qfd, 31 qqgq-rt, u'FFt I

srRcrs- H.y,y;}*-
wrsr{ e enfrcd w{ftPf cd<q Trl qrEte-

GqRErffi, efl-ry6afff, ffiqgfr, sqlrtgttfts, trt?Flt

'fRtrrqo, 
q'-eF1-*6f, dTR'{qm qf{qg*, uFtill

G't"fREIqr, fitgtfu dffffiq qs{, fiiFI futuf, Ersrl

Cqan effiq=efq Tft6t, .ffr'*v13r
(wt ffi{ amel adp$1, .tfu1rt
<R<t'|",t-{ s'ds6[, qq=Ig -t|RqFk qEqt&T RxF <q<, Ef{I/ ,ff{ qHFIE qfwftF+ frql+ rq<, uEeffV

eqqlfr qrs6rB-s Rfi{ {q(, ffi t

<Rapm-* s-ffit, 6flk"16T q{ftT, {rllgr / q'{ql, E1fuf(etl / ffi qq<qr, fi-{tq"Id /ffiHT{&T qE wi3t,

ff<{q, 6le[fr-41-q{ql qHtWIWrq(, Oq"l-<tffi1 cgF{:ttFraid, qffi/ lffiqE<*Gt, ,ftBdtrt,

mqrffir
qFF{R ffi, qR.fi.G.-trur, qTfrT*rq ffiqgg,uror tgrfurq qitqsffid err< qtq-6 qrlr$t qTr-qm

TOI
u*r< qm< rt{, qfr{ {qslfi TN-TfrIEEI< latwRo, ffieI $ftq-'tq q'dd, 'tfrNtill
qfrq rii,

,*rffi
n-qt{RE16rs (cdv-r1

aTnT"rrq qftqsq <lqqlctr-t, ulrpl r

W

:{lil-+. {(-rrrr.o5.oooo.5o5.\C.Uob(Cl.f S-yaU

q-{K <qfi-{ qr{, qfr-{ qTsTfr TIT-TF{EEF grltfro, 6qil afffi qfd, 'ffrnvT{-m 5bcb qrc{T

fr{Rs gE Rfq {fqt1 rr (s) (ii) {l-{Tgffr o\/orr/toel ffiq qcu rrs/orri\oQ: stR{ ffi ,ro fi-< wA-+ gp

F1r'R EtR"l qrs eo tft.D ftq thv c\'H qffiE BF t<R, {(qffi"t) {q{ T-<t qrql ,q<( est qfcal dlrs

Fru-{fis 16 qrc"fcq'fi* ffiqqt qAG a1trt 51$-O TH qE sfrs 't{'ff{ q-fle d[lr qdt EEI

16 q"Ie8-

I r frfi fr{Rs {rrcffi qBRg' T:t{ sl{F q<rEf{ r;16o {frT:H {tl
,1 ffi {-tf Fq r1-s6 Eg, q'{6t T.<-c<;u Sg q q'{ri Tfslffid sflF c-cu rqn ?+cqFr WT ?rrE {C{ rt t

,c r ffi {alt )Trtcx 66611ft6g em fr{ 'ffi ml'lq|q T3n$l wIIaIlT dK fr-{ch qlQ1T1't <r{$ d-<6t T-{t q-r{l

s v frn"6c1-ffi Tq'Iffi( <Fqf{'co &fr e qF rert +31-[$tl

r{ti-s 4(-ee. o5. o o oo. 5 ob. ec. sob(c).lr-!f 1 19 tb )
>,<-

5l

tl
el
8l
at
ul

1l

ql--r wut&T q-{i q{EFtc-
THfiT cF{ c-6qfrcs{ erE cF{
I\qi s Am{Pm {S.tlrlT;
<Rs'rcq-.t qF<rEt, rl+t r


